Central Limit Theorem and Confidence Intervals: Multiple Choice Questions
1.
A researcher wishes to find out about the mean of a population. She takes a sample, calculates the sample mean and works out the 95% confidence interval for the population mean. Which of the following results would she prefer?

A
The confidence interval is very wide

B
The confidence interval is very narrow

C
It makes no difference to her what the width of the confidence interval is

2.
A larger sample taken from the same population gives a confidence interval (at the same significance level) which is:

A
Narrower
B
Wider

C
The same width
3.
A larger sample mean from a population with the same standard deviation, using the same sample size and significance level, produces a confidence interval which is:

A
Narrower

B
Wider

C
The same width
4. 
Using a 98% confidence interval instead of a 95% confidence interval for the same population and sample, will give a confidence interval which is:
A
Narrower

B
Wider

C
The same width
5.
Suppose we have two populations, one with a smaller standard deviation than the other. We take two samples of the same size, one from each population, and work out a 95% confidence interval for each mean. The confidence interval for the population with the smaller standard deviation will be:

A
Narrower

B
Wider

C
The same width
6.
A sample of size n is taken from a population which is normally distributed with mean 
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 and standard deviation 
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. Which of the following statements about the sample mean distribution is true?

A
Using the Central Limit Theorem, 
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B 
Using the Central Limit Theorem, 
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exactly follows
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C
Without using the Central Limit Theorem, 
[image: image7.wmf]X

approximately follows
[image: image8.wmf]2

,

XN

n

s

m

æö

ç÷

èø

:


D
Without using the Central Limit Theorem, 
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7.
A sample of size n is taken from a population with an unknown distribution, with mean 
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 and standard deviation 
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. Which of the following statements about the sample mean distribution is true?

A
Using the Central Limit Theorem, 
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B 
Using the Central Limit Theorem, 
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C
Without using the Central Limit Theorem, 
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D
Without using the Central Limit Theorem, 
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8.
A sample of size n is taken from a population which is normally distributed with mean 
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 and standard deviation 
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 is used for the sample mean distribution. For which of the following sample sizes is this valid?
A
n = 5

B
n =15

C
n = 50

D
Any of the above

9.
A sample of size n is taken from a population which has an unknown distribution with mean 
[image: image24.wmf]m

 and standard deviation 
[image: image25.wmf]s

, and 
[image: image26.wmf]2

,

XN

n

s

m

æö

ç÷

èø

:

 is used for the sample mean distribution. For which of the following sample sizes is this valid?

A
n = 5

B
n =15

C
n = 50

D
Any of the above
Solutions to Central Limit Theorem and Confidence Intervals Multiple Choice Questions
1. B

2. A

3. C

4. B
5. A

6. D

7. A

8. D

9. C
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